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a)
b)

c)

a)
b)
©)
d)

1. Chose the correct antonym of the word Beguile,

a. Cheat

b. Persuade

. Deceive
. d. Allure

2 Spot the crror
Mr Danish, who has been (A) driving all day (B) was extremely tired (C) and wanted to stop

(D)

3. Choose the antonym of the underlined word.

Benefactor
Donor
Patron
Angel
Antagonist

4. . Choose l.bcl antonym of the underlined word.
Amiable :
Agpressive
Obedient
Quarrelsome

5. Choose the cortect synonym of the world Reverberate. |

Accelerate
Twaddle
Echo
Reviialise

6. Complete the fdllowing sentence. o
The moment the manpger came to know of the fraudulent action of his assistant, he

Order immediately disthissed him

Immediately order dismissed his .
Ofdﬂd his immediate dismiSSal i
- dlmiﬂsed hlm || MYFOOT.COM
W .ROTESWYFOT.cOM
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n)
b)
o)
d)

a)
b)

a)
b)

c)

7: Completo the l‘olluwlnu rentence,
She nsked ma if she,,,

Do shut the door

Did shut the door

Wil shut the door

Should shut the door

8: Select a pair of words to fill in the blanks,
Alleviate: Apgravate ,.7..... :..... y (A0

Level: Grade
Elastic: Rigid
Elevate: Agree
Joke: Worry

9:. If the payments of an annuity are being made at the beginning of each interval then
the annuity is called

(a) Ordinary Annuity
(b) Annuity Dew

(c) Perpetual Annuity
(d) Annuity Deferred

10: Complete the following sentance.

One should.....some money to enjoy one's hfc afier retirement.
Put by

Put out o d
Get off .
Call at

11. Complete the following sentence.

After some refreshments, she .working wnh rcnewcd vigour.
Falls out

Drops off ) . "
Falls to

d) Carries off

12: Choose the correct preposition
Rahul is aqcustomed ...... doing work under any type of chcums\ancu

a) Of
b) To
¢) With
d) In’

13: What is the meaning of the underlined idiom? k

' Feel the pinc)
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a) Financial hardship
b) Urge to steal

c) Search for a new job
d) A nedical condition

a)
b)

<)
d)

a)
b)

a)
b)

c)

a)
b)
c)
d)

14: Choose the meaning of the underlined phrase.
Many small businesses are tightening their belts.
Quitting business I
Economising ‘
ding . | MYFOOT.COM
Extortionate  WirW. nOTESmYfOoT.cOM

15: Fill in the blank with the correct article.

He is.....European boy
An

A
The
Oof

16: F:!ll in the blank with the corvect article. ... . ... ‘
He is ....doctor | come to see. \f
; v

An N 0/
A v S

The : , N '

On

17: Choose the correct spelling of the word.
Comitment

Comitmment

Comitmant

Commitment

18: Choose the correct spelling of the wqid.
Liautenat . ;
Leiutenant

Lieutanant

Lieutenant

19: Choose the correct altemative to substitute the given sentence.

A school boy who frequently cuts classes is a/an

Stoic i
Truant i_
Fastidious '
Elcgant
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a)
b)
<)
d)

20: Choose the correct altenative to substitute the given sentence.
An overeating person is called

Nibbler

Glutton

Cannibal

Omunivore )

21. Which of the following phrases is the correct meaning of the idiom “a penny for your
thoughts™? _

a) a fruitful idea

b) money for good ideas

c) a way of asking what someone is thinkir.g
d) asking for some money

22. Which of the following pirases is the correct meaning of the idiom “at the drop of a hat™
a) absolute silence

b) without any hesitation
c) when a hat is dropped =
d) losing one’s hat

23. Which of the following words is a synonym of instigate?
a) investigate

b) incite u
Oprersioe |
d) attack

MYFOOT.COM

W ROTESmYFOoT.cOM e
24. Which of the following words is an antonym of rigid? A
a) soft

b) hard

c) stable

d) transparent

25. Which of the followmg words is a synonym of euphoric?
a)fast |

b) depressed

c) elated

d) i npatient .

26. rhey travelled all the world.
u) of

b) over

c) through

d)on
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27. he is very clever, he often makes mistakes,
a) despite

b) since

c) although

d) because

28. Abmed was ad because nobody turned on his birthday.
a) up

b) in

¢) down

d) around

29. The firemen finally managed to put ______the fire.
a) away

b) out

c) off

d)in

30. She has been supportirg her family the death of her husband.
2) after

b) over
c) at
d) since

' 2
31. The value of Lim2—32*8 i

142 x’ -4
@ +
4
1
®) -7
1
c - 11}
@3 |
( 21 | NOTESMYFOOT.COM
D W ROTESMORT.cOM

32. The aim of education in all schools is to the best in students.
a) bring out

b) bring in

c) bring about

d) bring on

33. The aircraft landed the runway.
a) on '
b) at
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c) over
d)in

34. He had known him a long time,
a) since

b) for

c) from

d) before

35. The teacher assured him he would succeed in all his endeavors.
a) that

b) there

c) because

d) therefore

36. Which of the following words is a synonym of commensurate?
a) propagate

b) measure

¢) proportionate

d) delegate

e ol cncear

37. Which of the following phrasc. is ilie CoiTcel RiCaniGg O 38vSis

a) cut off

b) being serious

c) being harsh _ , .

d) someone who is unhappy - ,

38. Ahmed does not play football , and __does his friend Omar. -~ .-
a) either . o=
b) so o - . S o
c) neither : :

d) also

39. His cousin will arrive _- Monday.
a)on

b) at

c)in

d) over

40. He is exceptionally good solving mathematical equations.

a) in com )

b) at ||
c)on ’ ‘
d)over WWW.ROTESMYFOrT.cOM
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41. If each observation of the data is increased b
a) Itisincreased by 4
/b)' It is increased by §
c) Itisdecreased by 4
d) Itisdecreased by 5

¥ 3, then what happens to fis mean?

42. The sum of deviations from mean is always equals to
a) 2
b) -1
c) 1
d o

43. If mean is 11 and median is 13, then the value of mode is
a) 15
b) 13
c) 17
d) 11

44. Number which occur most frequently in a set of numbers is
a) Mean
b} Median
c) Mode
d)- None of the above

45, 'l"he mean of 9 observations is 1€. One more obser .tion is included and the new

E

becomes 17. The 10 observation is 2
a) 18 ' |?..;
b) 26 Il Sl '
¢) 30 l 2
d) 7
o 1@
46. Sum of mode and median of the data 12, 15, 11, 13, 18, 11, 13,12, 13 ; |
a) 31 : ‘ }_-
b) 36 ]
c) 25 é?
d) 26 Il ¢
47. Which branch of statistics deals with the techniques that are used to organize, mn
and present the data?

a) Advanced Statistics
b) Probability Statistics
c) Inferential Statistics
d) Descriptive Statistics
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48. The combined mean is calculated as
a) 1+ %2

N1+N2
N1+ N2
b)
2
N1R1 + N2
c) ———=
N14 N2
N1X1- N2X2
d) ——
Ni- N2

49. In a negatively skewed distributio
a) Mean < Median > Mode
b) Mean > Median > Mode
¢)- Mean < Median < Mode
d) Mean > Median < Mode

n.orduofmean,mc(ﬁmandmodeism

50. Manner in which Arithmetic mean, Geometric mean and Harmonic mean are related
a) AM>GM>HM .

b) AM>GM <HM
c} AM <GM <HM
d) AM <GM>HM

51. What is the value of x in 3x-15-6=0?

A ) of T\

b) 8 N = 1
) 9 MYEGOT.COM =
V2 www.noresmaforr.com S
52. Find the number when 15 is subtracted from 7 times the number the result is iO more than
twice of the number. ‘7‘(’:’(_! h
a) 15 ) R ‘s
b) 7.5 : N . | o
c) 5

/69 s o
- -
53. Find the number, if the difference between the number and its 3/5 i 0. | O%o
A 120 cordy N5 Lo
5 1 T e
¢) 124 e

\\\\r
Y

e

-

d) 125 |
| 54. The a“crage age of three boys is 25 years and their ages are in thel proportion 3:5:7. The
age of the youngest buy is 3 S
a) 9
b) 18
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—

)
d)

a)

/b)‘

o c)

d)

B

15
2]

55. If an alloy contains copper and silver in the ratio 3:7, then the percentage quantity of
silver in the alloy is
60%
"70%
90%
Noae of the above

56. The daily wages is increased by 25% and a person now gets Rs. 25 per day. What was his
daily wages before the increase?

a) 30
b) 25 . “
c) 20 . “ 3
})/Nonc of the above /gé/t
'd
57. 1f 200% of a number is 90, then what is the 80% of that number? _ 8 /é Y
_AY 36 : ‘ Zop 45 = 90 - 9 }
b) 48 ’ ’o/o E :f
c) 24 . g /é 7(4/5—-"'
d) 50 ’ Z{_/o
-
58. Mr. Thomas invested an amount of Rs. 13,900 divided into two different schémes A&B 7
at the simple interest rate of 14% p.a. and 11% p.a. respectively. If the total amount of simple  —
interest eamed in 2 years be Rs. 3508, what was the amount invested in scheme B?
a) 6400 '
b) 6500 Z-
¢) 7200 oot
d)- 7500.

a)
b)
c)
d)

a)
b)

¢

59. Suresh invested Rs. 500 in SBI for 2 years. He also invested Rs. 300 in ICICI for 4 years.
Atthecnd,berwcivedksﬂO&ombpthtbebanksassintp)qin!aesLWhatmusthavcbem

tlh;/mtc of interest? ~ . . 80 X 9 //L’
0% 1z
11%

5.5%

60. A shopkeeper raised the price of his product by 40%. How much discount should he give

so as to sell the pmdw;gonnopmﬁtno loss basis?
40%
22.5%

28.5% .
page 3 of 16
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\'LN Q° \V\M

L ¢

. 1,8
‘ d) 32.75% \,.’/ /%<\ /ﬁ;

61.  Whatis the next t
. (a) 14,10 SRS Riawiog i b%
N (b) 2,18
* & 21 SN
5 oz e T 130
"jl - f;o Find out the wrong number in the series: 190, 166, 145, 128, 112, 100, 91 ‘/q’v\
] \)\\20 (b) 166 ' AR Ty BTN TN
(c) 145 .
7 @is ' 1 (£ -
1 W
: 63.  PSXMis related to QRYL irythe same way as BETV is related 10 4
fi. (a) AESU sﬁ@[?/&n H L
(b) CEUU p
(c) DHVX Xl</5Mk9?Q/,I(
5 Y ESHY & fy/ vuxyY < |
g' 64.  If Cricketiscalled Fnolball Football is called Billiards, Bll!tatds is called Hockey
] and Hockey is called Kabaddi, then which game Kapil Dev has played?
#H (a) Cricket oDy
3 (b) Kabaddi —
2 (c) Football
J‘! (d) Billiards
Jﬂ! 65. Metal nsn!atedtoSculptormtbesame way&sCanvasnsrclatedto..... .
I (a) Painter
. (b) Cloth - .
) (c) Colours
1 (d) Painting . il
‘. 66. 1f compound mtcnst is computed monthly then its forrnula is

4 (a)A=P(l+l—06) | Y4 . , 1 |
. bA_lez)"'A@:C_quE'rG)r/T,X,yf"]
| 4-(5) yo P QRS TU VWIIZ
R/4

(c)A=P(l+-i—o—o-)
Al - @ 4= P(HR“ )m || “MYFOOT.COM
A E n W ROTESHAFOOT.cOM

67. Tanning: Deather :: Pyrotechnic.: ?
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(a) Wool
(b) Fireworks
(c) Machinery
(d) Bombs

' -y |{_ U\
68.  Identify }Smﬁ Eip, wis, ey ZL \

(a) HGY

®) 1IGZ Y
(c) IGY )
(d) LGY . o !

69. Corporate B, D, G, K, P _—

(aVv

&) W d
©T _ AT

@S - f

70.  BCA, EFD, HIG, K/ .
(2) KJL . , : A
(b) LKS | A
(c) LKL -

(d) KLJ i L wmes 5

. ‘-:_ _ - Pt ’.
71.  Prohibition @&
(a), ZN 5 > T :
(®) YO . ] Z.

() YM
) ZM

72.1f + means —, — means x, x means + and + means +, then which of the following
equations is not correct?
@) 10x5-2+4+6=2" | Y
b)7-15%3+6+4=33 . N
(©)12x4+5+9-2=16 e | ,J_
(d)14+7-5+10x2=45 | (

. !
73.  Pointing to a photograph, a lady tells Pramod, “I am the only daughtcr%rthis lady and
her son is your matemal uncle”, How is the speaker related to Pramod’s father?
(a) Sister-in-law
(b) Wife
(c) Sister
(d) None of these

74.  1f P+ Q means P is the husband of Q. P + Q means P is the sister of Q and P x Q
means P is the son of Q. which of the following shows A is the daughter of B?
(a)CxB+A
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®)B+CxA
(c)DxB+C+A
dA+DxB

75.  If P+ Q means P is the brother of Q. P - Q means P j

means P is the sister of Q. Which of the following means M s the mearrr or. 2204 P
(a) M-R+K ' ? follawing M is the maternal uncleofR?Q
(b)M+K-R
(c) M+KxR
(d) None of these

76. Cigarette : Tobacco::7:7
(a) Coffee : Caffeine
(b) Milk : Bottle
(c) Cigar : Filter
(d) Shoes : Socks

77. Flag:Nation::?:?
(a) Emblem : Prosperity
(b) Insignia : Rank
(c) Wealth : Prestige
(d) Honour : Status

78. ‘Success’ is to ‘Failur:’ as ‘Big’ is lo
(2) Small
(b) Good
(c) Rich
(d) Great

‘Bl6od’ is related to “Vein® in the same way as ‘Oil’ isrelatedto ~ . .
(a) Petrol : -
(b) Pipeline
(c) Engine _ .
(d) Car .
80. A matrix X is said to be involutory if
(@) X*=X . ' :
b) x=1
) X’=x
(d) x*=0
81.  Trade between tWo countries can be uscful if cost ratios of

a. Bqual

" p. Different
c. Undetermined
d. Decreasing

79.

goods are:

82. Which two of the following are regarded as the main aims of tne World T

Organisation (WTO)?
page 120f 16
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a) To climinate discrimination in world trade

b) To provide financial assistance to countries with debt
¢) To reduce tarifT barriers

d) To make ‘infant industry* protection illegal

¢) To help give preferences to smaller economies

A. a)and d) ||

B. a)andc) MYFOOT.COM

C. b)ande) '

D. c)and e) WV . nOTESmMYFO0T.cOM

83. Direct payments made by the Government to domestic companies to encoura
to protect them from imports are known as — ’ s
n) aids s
b) export tariffs
¢) voluntary export restraints
d) subsidies

84. Theory of comparative advantage was presented by: -
a) Adam Smith o

b) Ricardo

c) Hicks -

d) Arshad

85. Which is NOT an advantage of intemnational Trade?
2) Export of surplus produztion
b) Import of defence material
¢) Dependence on foreign countries
d) Availability of cheap raw materials

86. There are three types of political risks for organizations operating in the international
market environment. These are:

a) Ownership risk, marketing risk, and transfer risk

b) Supplier risk, distributor risk, and retailer risk

¢) Ownership risk, cperating risk, and tiansfer risk

d) Ownership risk, marketing risk, and operating risk

87. Within the micro-environment, a channel of distribution can BEST be described as:

a) All of the retailers in a country who stock a particular type of product.

b) All of those people and organizations involved in the process of transferring a product
from the producer to the consuiner.

¢) Aroutc piai for as company's fleet of delivery trucks, designed to minimize the cost
per delivery. , ]

d) A route pla~ for as company's flect of delivery trucks, designed to maximize the speed
of delivery.

88. A quantitative import or export restriction which prohibits or limits the quantity of a
product being exported or imported is called an —
a) Restraint
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b) Import tarify
€) Quota
d) Embargo-

89.
:;"?Tm ;::n out of negotiations in which round of the GATT?
b) Geneva Round '
¢) Uruguay Round
d) Torquay Round

.?g.lflna:hﬁdwdb::ﬁpﬁonwilhlhemmcnmnuexmim
situation w! countries nta t at a pri i jon.”
D A export a produc apneebelmwl}neostofluproductm
b) New protectionism
¢) Price skimming
d) Dumping

91. Which of the following is referred to as a predecessor to WTO?
a) World Bank
b) OPEC
¢) IMF
d) GATT

92. The current round of negotiation in the WTO is known as the —
2) Torquav Ronnd
b) Seattle Summit

¢) Cancun Meet
d) Dobha Development Round (DDA)

93. SLAPSTICK: LAUGHTER ¢ A
(a) Fallacy: Dismay . on
(b) Genre: Mystery . ) :
(c) Satire: Anger W ROTESHYFOOT.cCOM . .
(d) Horror: Fear .

94. PHOBIC: FEARFUL -
(a) Finicky: Thoughtful
(b) Cautious: Emotional |
(c) Envious: Desiring '
(d) Asinine: Silly ' 6 QVVT fD ‘S

FiETORE is written as ‘QHDSVQF'. How would

95. In a certain code Imgﬁage
‘BROWSER’ be written in that same code language? | & Lé_t
(a) CQVVTDS . i f;} R&7
(b) CQPVTDS « C L ;_F
(c) CQPUTDS | < T J
page 14.0f 16 ¢ E - /D
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(d) CQVPPDS

96. If “WORK’ is coded as *4-12-9-16", then how will you code *WOMAN"?

@ALPR- 1426137 Ly
(bwyz-|3]]4 /IL-,‘f,Lé,,>
s (c) 4-12-26-14-13
(d) 23-15-13-1-14
L ( Ly
97. [naca‘tmncodelanguagc 123" means ‘bright [ittle boy®, ‘145" means “tall big boy” and
‘637" means ‘beautiful little flower’. Which digit in tha 'anguage means ‘bright’?

@1

®)2

3

(4

98. If the diagonal of a square is doubled, then its area becomes

a twice ;o

b. thrice

c 4 times

d S times - ot

99.  After applying successive discounts of 10% and 5% on an article, it was sold at Rs.
~ 513. The marked price of the article is

a Rs. 590

b. ©~ Rs.610

c. Rs. 600 -

d Rs. 650

100. two dices are thrown together. The probability that the sum of the numbers on the two
faces is divisible by 3 or 4 is '
a 5/12

b. 5/9

c. 4/5

d. 4/9

Scanned with CamScanner



